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QUESTION 1

The Burst In compound pattern establishes a system that withdraws IT resources from an environment that has reached
level of utilization.

A. ahigh

B. a consistent

C. alow

D. an inconsistent

Correct Answer: C

QUESTION 2

The cloud architecture that is established by the application of the Storage Workload Management pattern can rely on
the storage capacity monitor to: (Choose Two)

A. notify the storage capacity system whenever a cloud storage device is being over-utilized
B. migrate LUNS to different cloud storage devices

C. detect when the workload of a cloud storage device has reached a pre-defined threshold
D. act as an external interlace to a cloud storage service

Correct Answer: AC

QUESTION 3

Applying the pattern allows virtual servers to directly connect to the

A. Direct LUN Access, hypervisors

B. Persistent Virtual Network Configuration, physical network cards
C. Synchronized Operating State, operating system APIs

D. Direct I/O Access, physical I/O cards

Correct Answer: D
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QUESTION 4

The application of the Cross-Storage Device Vertical Tiering pattern establishes a system that: (Choose Two)
A. horizontally scales across multiple redundant cloud storage devices

B. vertically scales within a single cloud storage device

C. can survive bandwidth and data processing power constraints

D. vertically scales across multiple cloud storage devices

Correct Answer: CD

QUESTION 5

In a cloud architecture resulting from the application of the Cloud Bursting compound pattern, the

mechanism is used to maintain synchronizing between a cloud consumer\\'s on-premise and cloud-based IT resources.
A. hypervisor

B. resource pooling

C. automated scaling listener

D. resource replication

Correct Answer: D
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